$=1/25,000

<ZOMIXIT, [EH - PFRRER OAGRESC, RBREAT O
[X125000 (Hu[XI i {4) ZERIL =6 D TH D, UKiRE = V2315,
#5166%)

N

BREZDEHR |LAR
X & # 5 [#~1087
X B & |FIET
BT T # |[REBPAFES TR SR X
TR EE R X
LRROE 50KN/r‘nL;§iE7—L§>|Zi§t

THKRE [animeR

N THERIZEKY 1z
L oA PRS-l PR e
X i 50KN/m2LAF ) K g

TEROBEL ImLUT O X

TERICEYEBEMIERTHEBESH 27.0
BNDRKESDHEK (KN/m2)

BRROAMERATHHEOLERDEE (M) 1.1

\//

E IR AR AR ANILIER

50

&

S=1/2, 500




- F =

e
bR A

NNy
)

_—

SESE S HEAR 1R AN LLIER

2]
i { I b S ) 8=1/25,000
£ ?(/L’ y l A4 ({7 3 /

< ZOMENE, [E R O&RESC, R TO R E
[X125000 (Hh[X| %) ZERIL7=Hb D THD, GKiBE 5 F23EH,
#1664

BREZOEE [tB8R
X B & & [#H~1087
=3 = & |HIE
T p2s o | REFREE TR S AT Hh X
TR EER X
EERDEN o it iz sz

THKRE [animeR
N THERIZEKY 1z
L oA PRS-l PR e
X i 50KN/m2LAF ) K g
TEROSEHImETORS

TERICEYEBEMIERTHEBESH 27
BNDRKESDHEK (KN/m2)

BRROAMERATHHEOLERDEE (M) 1.1

<

i A IN—=

7%
29
'-}0“ ’%?
W] R

50
S=1/2,500

100m

AR KT




